(JOSGP v T'1) — T EIBHAHR]

K# #haE T IR —[EE ~[EE REs GP

EIhL (B E KB AT 14]  1001x (5. 0) 17 (20. 0) 25. 0
B2 (A R RIER 20 (5. 0) 1001x (5. 0) 13 (10. 0) 20. 0
6L |AEH EEM TR 17 (3. 0) 101 x 13 (7. 0) 10. 0
SFAGL |ILA Ei TR 16 (1. 5) 902 x 7 (3. 5 5. 0
B |BE &2 EER 12 803 x 8 (5. 0) 5. 0
O (2 hNY 73 MEERH 8] 1001x (3. 0) -1 (1. 0) 4. 0
EiM (B2 E AR 13 803 x 7 (3. 5 3. 5
$846I |JAM IE# RIER 12 903 x 6 (2. 0) 2. 0
ORI (MK B BER 16 (1. 5) 1O3 x 1. 5
S04z (AR EZ REDRT 11 803 x

F1E | E+E E BER 14 502 x

1241 |Fh RE FER 10 503 x

EARIDAES EHR 14 301x

F14 | B S FHE 14 303 x

EARIOAL a0 d FHE 11 303 x

164 | K1 {EF] R ER 10 202 x

F174L |[RA " KB AT 9 202 x

B84 [(#TH RAE BER 8 00

B (S T4 FER 6

204 |B# 27 ARIIE 5

21461 |#EE HRE REDRT 5




